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Exercise . Prove that the nth convergent of
√

5 is
2 F3n+2 + F3n+3

F3n+3

.

Exercise . Verify that an order O of K is in particular a lattice Λ
such that OΛ = O.

Exercise . Let Λ and M be lattices of K. Prove the following.
(a) Λ + M is a lattice, and

〈α, β〉+ 〈γ + δ〉 = 〈α, β, γ, δ〉.
(b) Addition of lattices is commutative and associative.
(c) Multiplication of lattices distributes over addition.
(d) If Λ and M belong to O, then O ⊆ OΛ+M .
(e) If Λ and M belong to OK , then OΛ+M = OK .

Exercise . Show that 〈n, 1 + ω〉 and 〈1, nω〉 both belong to 〈1, nω〉 .
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